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[1]: import random

[2]: def random_request():
return sorted(random.sample(range(0, 100), 2))

[4]: def make_requests(n):
return [random_request() for i in range(n)]
# The way below works, but is less efficient
# requests = []
# for < in range(n):
# requests. append (random_request ())
# return requests

[5]: make_requests(5)
[51: [[20, 871, [25, 711, [36, 791, [42, 92], [26, 92]]

[6]: def greedy_solution(requests):
# requests is a list of lists of length 2
# representing the requested meeting times
sorted_requests = sorted(requests, key=lambda r : r[1])
solution = []

# remove the first element of sorted_requests and add 7t
# to the solution list
solution.append(sorted_requests.pop(0))

while len(sorted_requests) > O:
request = sorted_requests.pop(0)
if request[0] >= solution[-1][1]:

# mo conflict
solution.append(request)

return solution

[7]: def plot_requests(requests):
for r in sorted(requests, key=lambda x : x[1]):



print (" "x(r[0]) + "-"x(r[1]-r[0]))

[20] : requests = make_requests(100_000)
#print (requests)

[21]: | #plot_requests(requests)

[22] : greedy_sol = greedy_solution(requests)
print(greedy_sol)

(fo, 11, 1, 21, [2, 31, (3, 41, [4, &1, [5, 6], [6, 71, (7, 8], [8, 9], [9,
101, [10, 111, [11, 121, [12, 131, [13, 141, [14, 151, [15, 161, [16, 171, [17,
18], [18, 191, [19, 20], [20, 21], [21, 22], [22, 23], [23, 24], [24, 25], [25,
26], [26, 27], [27, 28], [28, 29], [29, 30], [30, 311, [31, 32], [32, 33], [33,
34], [34, 35], [35, 361, [36, 371, [37, 38], [38, 39], [39, 401, [40, 41], [41,
42], [42, 43], [43, 44], [44, 45], [45, 46], [46, 471, [47, 48], [48, 49], [49,
50], [50, 511, [51, 52], [62, 53], [63, 54], [54, 55], [55, 56], [56, 57], [57,
58], [58, 59], [59, 60], [60, 61], [61, 62], [62, 63], [63, 64], [64, 65], [65,
66], [66, 67], [67, 68], [68, 69], [69, 701, [70, 711, [71, 721, [72, 73], [73,
741, [74, 78], (75, 761, [ve, 771, [7rr, 78], [78, 791, [79, 801, [80, 811, [81,
82], [82, 83], [83, 84], [84, 85], [85, 861, [86, 87], [87, 88], [88, 89], [89,
90], [90, 911, [91, 921, [92, 93], [93, 94], [94, 95], [95, 961, [96, 971, [97,
98], [98, 99]]

[23]: plot_requests(greedy_sol)






[25]: len(set(map(tuple,requests)))
[25]: 4950
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